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N'' said even if there are no witnesses on the 3, etc.

OVERVIEW

Our X3 maintains that our 7wn, which states that the %% must say 192
anml cannot follow the view of X", since X"7 maintains that 7»°D7 1S not
required on a Vi even 112771, To support this statement, the X723 quotes the
mawn of P70 A X in which X" argues with the 0°25n and maintains that
they are °7w>. n1©o1N will be discussing two issues: A) How precisely do we
derive from this mwn that X" does not require 7n°n1 at all, and B) What is
the status 79°1n2%, of a va without ;12°n17 7Y according to X'".

nooIN asks:
= NP NI 99NRT TAN 192 IN 112 AN52 AN NPT N7 99NN ON)

And if you will say; perhaps X"7 maintains that it is a 2w v3, only in the
cases where the v was written in the handwriting of the husband or when
one witness signed on the v, which the first Xin of the mwn is discussing;
only in these instances —

- TYON %34 PYIN
does X' maintain that the ©) is 9®3. In these cases there are (two) witness on the
va. In the case of 17> an3, as MdOIN mentioned previously' that W 7173 7°nA 72 PX and in
the case of one witness, N1901N also explained that whether the v3 was written 71910 2132 or
17> 2nd2 it is considered as if two 0°7Y signed. How can we derive from this 71wn that X"
is of the opinion that even if there are no 2>7V at all, nevertheless the v is w3?

MooIN answers:
- 595 o1y 1YY PNT YRYN D3TY PIY PN 1IN PNUINT 9D U

And one can say; that the expression of X", namely, ‘even if there were
no 2°7¥’ signed on the v3; this expression implies that even if there were no
2>7w at all signed on the v3, nevertheless X" maintains that the v is w3. If 8" would
maintain that only in these specific cases of the p"n the v is w5, however if there were
no 0°7v at all in the v it would be 2109; the 71wn should have just stated *7v2 9won X"
'170n. The fact that the 71wn added the phrase that 8" says 'y 19¥ PR 120K’ it is WD,
from this we may infer that according to X"9 the ©3 is w2 even if there are no 0°7¥ at all.

L awow 77 'oan.
> We cannot consider the case of 17 2n3 as 995 079 19¥ PX, for as mw9ow 71"7 '0n taught that 17 2n3 is a case
of 1 79173 e nm 72 TR (see R"'WAn).
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mooin offers an additional answer:
= 2PN 1PN 23919 NOHN VIN TY PPN DITYN PN NPT NV

And furthermore we have additional proof that X" maintains that a ©3 is
Tw> without any an°nn 7y at all; for the mwn» quotes X"1 saying:
“witnesses do not really have to sign on a v3; they sign on a v only for the

benefit of the people”. This -
= N0 TN NY0N S1¥aT YNPUN

implies that the witnesses that are present when the vi is delivered to the

woman; those witnesses alone are sufficient to render it a 2w> vx. No °nn 7w
are required.

Now that we concluded that "1 maintains that a v) without 7»°nri °7v at all is w2, The
question arises whether it is 791N 9w> or only Tay>72°,

- 119501 %1¥3 YN 539 U “NYINNIY IPIANT PNYY 139299 AN
And it is the opinion of the >''1 that X''S maintains that even initially (the
woman may remarry, for) the vi is "w> with 79%0n 37¥ alone, without >7v
a2 N0 -
= 09VPa v9°910
as *"'w explained.’

mooIn will now offer a proof to this opinion that it is 7%°1n5% “Ww>
- 1PPUAN BN PINK 9953 Y PAMD PN (2,80 9172 P92 1PY NP1

Since we learnt in a 71w later in the second pa2, ‘we are not to write a

us on erased parchment® and the 27251 permit’ to write on erased parchment.
= 9199 1901 1Y INT ITYHN 229 009N JND 9IN)

And the X1 says’, ‘who are the 2"»am of the mawn that permit writing a v3
on erased parchment? It is X''S who maintains that the 7902 >7» effectuate
the divorce’.® This concludes the citation from the 73wn and X733, M5OI continues:

3 Concerning the v '3 seemingly X" will maintain that it is 72°1n3% 2w3, for he disagrees with the o»an
who maintain that it is 72°mn3% 2109 and W3 7917 72v°72. See 7w 0" for an alternate explanation as well.
* See “Thinking it over’ # 1.

* See oX1 71" "W

6 1t is possible to erase something that was written in the vx (i.e. a certain stricture) after the witnesses
already signed it. It will not be noticeable since the original was written on erased parchment. See "7 on
that 771 7"7 mIwn.

" o0a ®,20 A7

¥ We are not concerned that anything was changed in the v3, for the 77°0n *7v are present and they are aware
of any restrictions or stipulations in the 3.
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It is implicit in the words of the o°nor of the m1wn who say 'Pwan' — ‘it is
w3’ (as opposed to the p"n who says '1°22am3 PX'); that they mean to say “and

we are permitted to write such a 79°n1n3% via. We may infer from this, that just as we
may 72°1n37 write a Y on a PN 771 according to X" who maintains °n73 77°01 7Y (even
though it is not permitted if we maintain >N 7n°NR >7Y), similarly it is permitted
according to X", to write a 79°1n2% V3 without 72 N >7v as long as there are 7707 73,

mooin will present a possible difficulty with this ruling that one is permitted 7%°1n3% to
write a ) without 7°nr1 7Y (according to X'"):
- 703N Yy PRMN OI1YN INPY INIDNY 139 1PPNN (3,75 971mp%) NIIYNL PRTM

And concerning that which we learnt in a mw» in n9wn poo that 3"

instituted that witnesses should sign on the v3. How can we possibly say that
n2°mn3Y it is permitted to write a v without 72°nn 7Y signing?

mooIn responds:

— 19 MYYY BNY 1YY 1750 NIN 19 MUY TP98Y NY
it is not compulsory to do so (to have n°nn >7v sign); that is not what the
phrase 1"7 7"2n7 means, but rather the word 32°n is to be understood in the

sense that he taught them to do so; to have 0> sign for the benefit of the people -
= VXN TOYN NINIT MNINT INIYWI 1901 Y9YY 19908 XYY

that they should not be required to depend on the 79°0% >7», when the

recipient of the "vw and the w3 will want to present them as proof. They
will have the 7n°nm >7v right on the 0W.
$1991290 1901 STYN NYINNIY PINDY DINA ON YaN

However, if the parties agree to depend initially solely on the ;79%%% >7v,
and they are prepared to forgo the additional convenience of having >7¥
o0, they may depend on the 7701 *7v even 771037 without 2°nm >7y.

SUMMARY

X"7 1s of the opinion that even if there are no 72°nn >7¥ on the va it is still
qw>. We derive this from his two statements in the 7awn, 1) 19 7PRW 9"UR

w3 21 27y and 2) oW 11P°N 2197 ROXR VAT ¥ DMR 0TV TRY.

Furthermore, it is 72°1n3% permitted to write a V3 without any m2°nn °7¥, and
give it to the woman. It may be to the benefit of the recipient of the “vw, that

? See “Thinking it over’ # 3.
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he includes 72 nn >7y, He is, however, not obligated, to do so.

THINKING IT OVER

1. Do we interpret '°79°1ino% to mean that we may; a) 72°1n2% write and give
(such) a vx to the woman, b) once it was written we may give it to her
without 1"y or ¢) that if the woman received such a v3, she may 77°rn2%
remarry? Explain your answer."'

2. According to X"9 what is the 7 in the case of 27y V9V XY 17> 2nd; is it
72°1n2Y AWw>? Or are we concerned that he may tamper with the J1?'>

3. mooIn questions his premise that according to X"7 we do not require 11"V,
from the mawn which states v31 %y Pamn 2797 %W 3™ Ppa.” Why did not
mooIn pose this question from the 7Iwn cited here, where X"9 states XY
09I 11PN 2197 KOR LT 9V MmN 07y indicating the 1"y are required?!'

10°gee footnote # 4.

' See vo nix 7"510.

12 See »"va,7"910 K"V

13 See footnote # 9.

4 See (1"2mmnY) o o
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